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FA AAE
3 MY FOAX UWERKAI 2=
ChSl: AN BEAUIA 23t (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 30,000 30,000
01 Al&H| 29,676 29,676
Oa72 Mool At 29,676,000& 29,676
03 AIZ2THYI 324 324 0
Oa72 THoloe AL 324,000 324
sg=lzEd 50,821 34,358 16,463
101 ©1AH| 18,471 17,588 883
04 JIZtN2Z2XNSE+ 18,471 17,588 883
O=N22g 22| ¢2Y
76,9003 x1H*20L « 12 18,471
201 er23 | 32,350 16,770 15,580
01 At2teltl 6,200 6,200 0
OosX223 450,000 +42] 1,800
Ostdd 34 & HIX=3 78
200,000& * 128 2,400
o= 298 237 300,000 *22] 600
OFxE 482 (ST, 2= &
100,000& %42 400
O=Fxty =9 & otk 2 A
500,000 22 1,000
02 S3=gHl 26,150 10,570 15,580
O=X2 &3t 23 50,000& * 122 600
OosXa &) 2= 1,000,000& «12& 12,000
o= =& 2= 200,000& 122 2,400
O=Xa =) Sz 50,0002 12 600
OReldHl AMHlA 2=
150,000& »12& 1,800
Oddli2d, 2SS =E
300,000& x224%13 600
ORrddE 4l 25 25,0008 122 300
O0t= YA dit=
5,000& x21JH*42] 420
OFAH JD1&4H| ot EH
100,000& %12l 100
Osdll "Al2ell 150,000& « 12 1,800
Osdll IIE8d 130,000 12 130
OFEAMAS 100,000 ~12& 1,200
OAld & &Hl |sXi2el 3,000
Okelglz2 MJIR=s 100,000& «12& 1,200
H2=SSE2Y 32,200 42,188 29,988
201 Ler23| 32,200 24,600 7,600
01 AtR2telHl 6,000 6,000 0
O=sg RA & B4 2|
300,000 * 122 3,600
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H & 0l & AHS B Ml A

20233 =0l LB FAE ~ XIAHH

SA: pED
My pEG MUK WESD 25
Chol: PHEOI MEAHIA 23 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEY 525,774 510,328 15,446
2EH HOAX UWERZD 725 443,874 430,524 13,350
SAEH HIAMHIA 23t 443,874 430,524 13,350
HHEAMHI A 222 146,074 134,724 11,350
101 21AH| 23,306 19,736 3,570
04 JIZtN2Z2XNSE+ 23,306 19,736 3,570
OHEA el 123
76,9603 x 18 30! 2,309
ONEE 82X 22Y 20,997
—JlZ2= 76,9603 x19%62! 15,085
—E = 76,9602 9 693
—=28= 18,780,000 11.8% 2,217
—RsF5+E 76,9603 395 3,002
201 er23 | 122,768 114,988 7,780
01 At2teltl 25,448 24,848 600
OFAIIAL =4 SEH
8,000& 23 » 128 2,208
OIS Y M2 PSR
450,000 *4=2 7| 1,800
OARIIDI 28 223 2
800,000& 122 9,600
OARES 7Y 400,000 12& 4,800
O34 & A2 E3 7Y
150,000 «12& 1,800
OXNSZHIAIE X2l
120,000« 12& 1,440
OFAA= 240,000 %53 1,200
OFAL HIIHHEH =5
100,000 *23] 200
OBIIB3EI MER 200,000 * 122 2,400
2 S5=2g4l 97,320 90,140 7,180
OARd JIIes 900,000& 122 10,800
OoJzs &eks 3,800,000& ~12& 45,600
OsxsAd4 SSHEL JIIes
200,000 * 122 2,400
Ox=kR= 200,000 * 122 2,400
ORdYER= 35,0002~ 12 420
OR#z &Ee= 300,000& 122 3,600
O48stE FAl2d
4,000,000 1t =3CH 12,000
OFaxtg A2l 15,000
O=XRE FAl2c
4,000,000 1+ 1CH 4,000
OSgeLsI| |24t
1,100,000 *1CH 1,100
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SA: pED
Hm: BEO HOIXA UEYD 2=
Chel: RIES BIAUIA 23 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FRIEO Metetd e 83,800 83,800
101 @124H| 21,450 21,450
M ORNZZE2NSE S 21,450 21,450
OOtSLHE Hel Zaxd o=y 6,450
OJt™ZHIDI =Y 1,000
oLz el o1fy 1,000
OHZ 2k sHEEZ SHiD| 22 5,000
Ogt2| RE X2 22| 92 8,000
206 M=l 48,750 48,750
01 MZH| 48,750 48,750
OOtSLhE Hel d2xd Mz 7Y 43,750
OLd sz F2Xd Mz 7 5,000
301 2= 3,600 3,600 0
02 AL 2EH LGS (HAAS, NLWE) 3,600 0 3,600
Ox38i0Hs 4& AL 3,600
401 AIZHIZ SO 10,000 10,000
01 Al&HI 10,000 10,000
ORIE+= MA K& 10,000
Moo =2i=3 o1& 130,000 130,000
201 er=2 3| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
Ol & 5+ FolLxs 10,000
401 A2 HIZL R 0HbI 120,000 120,000
01 Al&HI 118,704 118,704
Ok3d s2 EHIAg 14,838
OJ1d0te Eti+==2 FHIAIE 9,892
Ogalts =2 & == IHIAI 14,838
OulgE Y =XHE JISEX SAt 9,892
O=&0tS Bi+=2 EHIA 14,838
Og&lel s=dHIAg 14,838
O S0t= ME ZHIAI 14,838
O%=0t= i+=2 ZHIAY 14,838
O7g0ts o2 SEZAY 9,892
03 Al 20HHI 1,296 1,29%6 0
Ol =2l=2 At
120,000,000 *1.08% 1,29
=ty 2el2dg 26,000 26,000
201 er2&| 21,000 21,000
01 At2teltl 5,000 5,000
O=23tel & 2| 5,000
02 S3=gHl 16,000 16,000 0
O=zta & 29 16,000
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SA: pED
Hm: BEO HOIXA UEYD 2=
Chel: RIES BIAUIA 23 (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 5,000 5,000 0
11 dALEEIXIZE S 5,000 0 5,000
O=3tel & =2staAt 5,000
FUNXIHE 2E 8,000 6,000 2,000
201 er2 3| 8,000 6,000 2,000
01 AtR2te|HI 4,500 2,500 2,000
ORI ME 2tel 2,500
ORI XHHME 2 2,000
2 S5=24g4l 3,500 3,500 0
O=2UXXIHE 2 3,500
ATt THOH I 50,000 50,000
401 AIZHIZL R0 50,000 50,000
01 Al&H| 49,460 49,460
OA2 Mool AL
50,000,000 *98.92% 49,460
03 A2 = THHI 540 540 0
OATE2 THol ol 2 AL
50,000,000 *1.08% 540
HY2HIH|(2ED) 81,900 79,804 2,09%
Jl=23H 81,900 79,804 2,09%
2EH J|23H 81,900 79,804 2,09%
201 fet= 3| 25,880 24,800 1,080
01 AtR2t2|HI 20,880 19,800 1,080
Ogy ge=d 13,608
oYy geF2(SEHl)
19,440,000 *30% 5,832
Odalsg 60,0003 x24! 1,440
02 S3=gl 5,000 5,000 0
OBAM=A & 22| 5,000
202 04| 41,400 40,344 1,05
01 2LHA b 4,320 3,264 1,056
Oogy gexd 4,320
02 XN 37,080 37,080 0
o 200,000« 1H« 122 2,400
O=R8# 0Olot 170,000 x17H* 123 34,680
203 HF=AH] 13,620 13,660 aviy)
01 D[22 PR FA| 8,500 8,500 0
oJ1zeg 8,500
02 32 JRHH R 920 960 A0
OZ &It 40,0003 23S 920
M EASHLRFAH 4,200 4,200 0
ORKNEg 350,000& 122 4,200
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o
2

E

JAPNE|

od
i’
oF
uJ

t

MEIA 2

-

KIO

Hlw

24,710
24,710
24,710
A300
A300

1,020

MEE
Ofl &k2h

433,418
368,282

368,282

110,240
28,900

109,740

Ofl &F2H

392,992

458,128

392,992

109,940
2,000
1,200
2,000

109,440

29,920

- SRA(E) - HIRAY

- HyS

S - B

=
-/

| HERZA 2

IN

—_

104
n0

<l

z
K0
o0

[m]

R)

B0
0p
7
<
T

KO

X
10!

8,000 +250

FOIAH =&

EADN

01 AFS2t2ltl

(OFS]

ol

OARID| 28 2258 #

21,320

24,010
2,750
2,750

80,840
500
500

81,242

28,122

28,122

14,400
4,800
1,000
1,200
2,000
1,320

79,520

12,000
1,200

220

35,000
1,500
8,000
2,000

15,000

600
4,000
500

500

500
105,252

30,872

30,872
4,000
5,388
7,69
8,000
3,848
1,200
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3

1,200,000« 122
400,000& + 122
100,000& x 122
110,000& « 122

110,000& »2
125,000& « 128
50,000 *12&
76,9603 * 12 +70
76,9603 x5 x202

4,000,000 *2
76,9603 1 »502

ISAlE &R

Zeldl
2e|tl
(|D:|

teld|

ela]

1
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el

el
=
ol

EXE =A
2% =X
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g
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O=Xxg 1A
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OHEA Hel
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101 e124d|




HAMHIA 25t

HOHAX UERZD 7=
i

SN - HE - SI(EH) - NIRAY - BES A HIDE2
OFAX XMAIE =& &
148,000& %5 740
201 er2 3| 31,800 31,800
01 AF22t2ltl 3,600 3,600
O=Xzl2 2328 7Y
300,000& * 122 3,600
02 3224l 28,200 28,200 0
O=sXzl2 28 & 2l
2,000,000& ~12& 24,000
O=sXzl2 s2J| |Al2eld|
130,000 « 122 1,560
O=Xgl@ MINHBY 442
110,000 122 1,320
O=Xs ASHY 248
110,000 * 122 1,320
206 =4I 13,260 12,000 1,260
01 M=4l 13,260 12,000 1,260
OoZ&xd M=l 12,000
O AHANY =8 Hl 1,260
301 Et2E = 4,320 4,320 0
02 ARSI 2E AT S(FANS, XLETHE) 4,320 0 4,320
A JHEYE YAMY 4,320
401 AIE2HIX S CHYI 25,000 5,000 20,000
01 Al&H| 25,000 5,000 20,000
Ofg=+== MA 5,000
O 22 LA 20,000
THoHole ==QI=3 offZ 110,000 110,000 0
201 2= 10,000 10,000
01 AFS2t2ltl 10,000 10,000
OMatiley & =7 &l =2 10,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&HI 98,920 98,920
OUWEHDIS THOHOI ALY 18,920,000 18,920
O20tS THoHHI ALY 20,000,000& 20,000
O 02 MM AL 20,000,000 20,000
OaZ0tS THoHUI AL 10,000,000 10,000
OO0I=0t= THOHOIZ AL 15,000,000 15,000
OZ==0t= THoHHIZAL 15,000,000& 15,000
03 Al =2 0HHI 1,080 1,080 0
OMaHoe =2I=3 At
100,000,000 *1.08% 1,080
28 THoH Ol gt 30,000 30,000 0
401 AIEHIZ SR OHYI 30,000 30,000
01 A<l 29,676 29,676
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MEE
Ofl &k2h

324

36,800
36,800
8,000

28,800

65,136
65,136
65,136
20,360
15,360

5,000

31,416
2,4%

28,920

12,360
8,000

760

3,600

1,000
1,000

ol &rey

29,676

324

324
37,800
37,800

8,000
8,000
29,800

14,000
8,000

300
500

7,000
65,136
65,136
65,136
20,360

15,360
11,232

2,808

1,320
5,000
5,000
31,416

2,49%
2,4%
28,920

2,400
26,520

12,360
8,000
8,000

760
760
3,600
3,600

1,000
1,000
1,000

- ESS

- SRA(E) - HIRAY

S LRE-L

30,000,000 *98.92%

03 Al =2 0HHI

HO A

5

o272 M

30,000,000 *1.08%

01 AtR2telbl

800,000& 102

30
0K
[0
M0

o
O

i

1,400,0002 « 102

800,000& x10&

30,0002 102
50,000& 102

OJIEtR3

700,000& x102

01 AtR2telbl

KF
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ol

i

KO

60,0003 22

30
0K
[H0
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A

202 044l
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200,000 x1H 122
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H £ 0l & AF & S

20233 =0l LB FAE ~ XIAHH

Al A

SA: SR
H: 9X% FOAX UWERD 5
Rl XY HENEIA 2o} EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E=PNL 326,122 321,122 5,000
XS ZF0AX WERAZ 75 267,186 262,186 5,000
HXH dIAEA Zat 267,186 262,186 5,000
HHEAMHI A 222 86,266 81,266 5,000
101 21AH| 12,000 9,000 3,000
04 JIZtN2Z2XNSE+ 12,000 9,000 3,000
OBBX BRHFA SN R
9,000,000 9,000
OSFA X4 BAFY ol
3,000,000& %1 3,000
201 fer23| 73,666 71,666 2,000
01 AtR2t2|HI 12,000 10,000 2,000
OARIII 28 223 Fd
7,000,000& *1& 7,000
OFIItdE & AERSg
500,000 *4= 7| 2,000
o2&k s3=d4 72
1,000,000& %1 1,000
OF2AX NMAME 2
2,000,000+ 14 2,000
2 S22l 61,666 61,666 0
OFAAS=HI 1,200,000& x 1= 1,200
OAR4 &JIe= 700,000 * 122 8,400
oJzs &Kks 7,3002 #3305+ 123 28,908
O=Xzl2 8JI2s 400,000 12& 4,800
O=Xlzgl2 =23l 5,000,000 1 5,000
=ER=3 60,0002« 12& 720
OMNSZHIAIE A2l
120,000& * 12 1,440
ONVAEZ 16,5002 « 122 198
LEE ¢E2=3 150,000« 12& 1,800
OAed 250 1,000,000& 1= 1,000
OFAL HIIHHEH =558
100,000 *23] 200
OoZsitg FAlZ 5,000,000 1 5,000
OxXgsAb(XEE SXXH)
3,000,000& 1= 3,000
301 EtE NS 600 600
11 dAMEEIXIZE S 600 600
OZdLdsS ASA =d
600,000 %12 600
FRlEe) Metetd e 35,920 36,920 0
101 212A4H| 16,120 6,120 10,000
04 JIZtN2Z2 XS+ 16,120 6,120 10,000
OFZ x4 AUFY 3,000
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SN SxE
H: 9X% FOAX UWERD 5
el BXH EAMEIA At (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsteZH1D| 1=
130,000 82 »33] 3,120
Ol 22 x4 22¥ 10,000
206 M=H| 16,000 6,000 10,000
01 M=8l 16,000 6,000 10,000
O2Zx4d g 7 6,000
Obts 22 24 Mg 7 10,000
301 EtE NS 3,800 3,800 0
02 A2 XSG (FHAAHS, W) 3,800 0 3,800
O34 JIELE SFAL
9BIt7+22]%20,0002 3,800
THoHole =QI=3 oflZ 115,000 115,000 0
201 fer=3| 10,000 10,000
01 AtR2t2|H] 10,000 10,000
Ol & 57 3l 8tz 10,000
401 Al HIZL S 0HYI 105,000 105,000
01 Al&HI 103,920 103,920
ORIE+= MAXA 5,000
OZ 02 THoHoIZ ALY 18,920,000 18,920
OXt0t= THoH ol ALS 20,000,000 20,000
OYE0I= THolMIZ AL 20,000,000 20,000
OF A0S THoH Kl ALY 20,000,000 20,000
OZXI0FS THAHOI ALY 20,000,000 20,000
03 A2 THYI 1,080 1,080 0
OTHoHoilet =RI=2o1Z
100,000, 0002 *1.08% 1,080
ATt THOHOll'2t 30,000 30,000 0
401 AIEHIZ SR OHYI 30,000 30,000
01 Al&HI 29,676 29,676
OAE2 THol ol 2 AL
30,000,000 98.92% 29,676
03 Al 2 CHHI 324 324 0
OA2 Mool At
30,000, 0002 *1.08% 324
Y 2AAHI(EXIH) 58,936 58,936 0
=34 58,936 58,936 0
SXe =3l 58,936 58,936 0
201 er23 | 17,040 17,040 0
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